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§ 2. AT (1kfET)
1.avoy—b+  (ock=24N/mm)

(D NSRy b

ABR)

al=1/2x (0.970+40. 970) x 4. 600 (ATEERE) = 4.462 2

a2=1/2 x (0. 95840. 955) x 4. 600 (EEEHE) = 4.400 p?

V1= 1/2 x (4. 462+4. 400) x 0. 500 = 2.216 ot

(2) 1-TE*

BIEEE

al=1/2x (8.493+8.221) x 13.610 = 113.739 p?

NSRy FETEMBERE (1-1)

a2=1/2x (8.475+8.197) x 14. 600 = 121.706 p?

EEEE (2-2)

a3=1/2x (8.475+8.197) x 15. 150 = 126.290 p?

vi=1/2x (113.739+121.706) x 0. 900 = 105.950 p°

v2=1/2x (121.706+126. 290) x 0. 500 = 61.999 3
SV2 = 167.949 f

(3) EhR

v1=6.000 x 15. 200 x 1. 400 = 127.680 p

v2=1.000 x 15. 200 x 0. 700 = 10. 640 pd
YV3 = 138.320 pf

4) 2+&

vi=1/2x (0. 300+0. 307) x 0. 500 x 4. 600 = 0.698 e

v2=1/2x0.500x 0. 500 x 1/3 x (13. 393+13. 393+13. 943) = 1.697
yV4 = 2.395 ot



®) Z@D1 T

al=1/2x (1.720+5. 743) x 4. 827 (REIEE) = 18.012 12
a2=1/2x (1. 731+5. 648) x4. 700 (SMEIEFE) = 17.341 12
vi= 1/2x (18.0124+17. 341) x 0. 550 = 9.722 1
v2=1/2%0.500%0.513 x 1/3 x (4. 850+5. 286+5. 360) (NTF) = 0.662 '
SV5 = 10.384
6) HElH1 25
al=1/2x (3.388+4.821) x3.582 (REIEFE) = 14.702 12
a2=1/2 x (3.366+4. 486) x 2. 800 (SMEIEE) = 10.993 12
vi=1/2x (14.702410. 993) x 0. 900 = 11.563
v2=1/2%0.500 % 0. 663 x 1/3 x (4. 140+4. 388+4. 623) (N2 F) = 0.727
SV6 = 12.290
(7 EEaVH)—F (Zoh—E)
V7=1/2x (0. 116+0. 122) x 0. 320 x 0. 320 x 15 = 0.183
@ aryy—rEet
ISRy R Vi = 2.216
f- TR V2 = 167.949 8
JEEhR Vi =  138.320
Z+a V4 = 2.395
E@lA 29 V5 = 10.384 e
=1 o a2 V6 = 12.290 n?
BEaVHY— b Vi = 0.183 1
sV = 3337



2. BT (BXFHEEY) (A1BE)

(1) ISRy k

al= 4. 462 @TE®E#E avyU—k&Y) = 4.462 p?
a2= 4. 400 (BEEE avsU—h&Y) = 4.400 p?
ad3=1/2x (0.97040. 958) x0.500 (Z R EEE) = 0.482 n?
ad=1/2x (0.970+40. 955) x 0. 500 (BERIEmEE) = 0.481 p?
X 2B, - TEICT—{EER
2A1 = 9.825 2
(2) =Tk
al=113.739 (fiEmEE a>9U—k&kY) = 113.739 12
a2=126. 290 (EEEE a>2Y—+r&Y) = 126.290 p?
ad=1/2x (8.493+8.475) x0.924 = 7.839 m?
ad=1/2x (8.475+8. 475) x0.513 = 4.348 p?
(BIE &)
a5=1/2x (8.221+8.197) x1.193 = 9.793 m?
a6=1/2x (8.197+48.197) x0. 663 = 5.435 p?
al= (-1) x1/2x (5.648+5. 743) x0. 564 (BRI A TR = -3.212 n?
a8= (-1) x1/2x (5.286+4.850) x0.513 (N FHERR) = -2.600 mp?
a%= (-1) x1/2x (4.486+4.821) x1.193 BRI A T ER) = -5.552 @2
al0= (-1) x1/2x (4.394+4.140) x0. 663 (BRI N FHEER) = -2.829 n?
all= (1) x1/2x (0. 360+0. 371) x 4. 600 (ZTEER) = -1.681 @2
al2= (-1) x1/2x (0. 457+0.426) x 13. 393 (RTEER) = -5.913 p?
2A2 = 245. 657 2
(3) EhR
al= (6.000+15.200) x0.990 x 2 = 41.976 2
2A3 = 41.976 mp?
4) =2i+&

al=0. 300 x 4. 600 = 1.380 p?
a2=1/2x (12.217+13.943) x 0. 707 = 9.248
a3=1/2x (0. 043+0. 053) x 4. 551 = 0.218
0
1

N

N

a4=1/2x (0. 064+0. 074) x 4. 242 = . 293
M = 11.139

|3 3. 3_ 3

N



®) E@IOA 2T

NFT@E

le

7/4

~L_—

al=18.012+17. 341
a2=1/2x (6.284+6.118) x0.550
ad3=1/2x (1.720+1.731) x0. 550
a4=1/2 x (4.850+5. 360) x 0. 803
adb= (-1) x1/2x (5.315+5. 743) x 0. 513

a6=0.214

al=1/2x (0.045+0.043) x0.513

6) B@lY12T

al=14.702+10. 993
a2=1/2x (3.858+3.016) x0.900
a3=1/2x (3.388+3. 366) x0.900
a4=1/2x (4.140+4.623) x 1. 206
ab= (-1) x1/2x (4.556+4.821) x0. 663

a6= 0. 230

al=1/2x (0.067+0.074) x0.663

HENVFTE

0.230m’

(MEEE+SAEEE 29— b&Y)

(FmE)

(UEB)
(IN2F)

(N FEER)
(INFTE)
(N> F{alm)

(FmE)

(¥ &R)
(N>F)

(N FEERR)
(NN FTE)
(AN L 1))

(B-B)
— N

1206

35. 353
3. 411
0.949
4.099

-2. 836
0.214
0.023

N

N

N

N

N

N

2AS =

(MEEE+HEEE 302U —b&EY) =

41.213

25. 695
3.093
3.039
5.284

-3.108
0.230
0.047

S, 3.3 3_3_3_3
N N

N N N

N

N

N

2A6 =

34.280

ENEEE EN .3 _3_3

N



() BEa>Y)—+

A7=1/2x (0.116+0. 122) x (0. 320+0. 320) x2x 15

®) R

NSy b
f-CE:

JEhfx

Z+a

EQloA 2
=1k gl
BEIVYJ—+

2.285

= m
Al = 9.825
A2 = 245.657
A3 = 41.976 p?
A4 = 11.139
A5 = 41.213
A6 = 34.280 p?
AT = 2.285 2
A = 3864 p?



3. BT

(1) SD345
BRI LY
D32 13,406 kg
D29 0 ke
D25 4,180 kg
D22 1,089 kg
D19 6,189 kg
D16 3,646 kg
D13 920 kg
A5t 29,030 kg

BT

D25 o #A
D22 81 #A
D16 o #A

4 L (R—54>2) aryy—+rI (ock=18N/mm?)

vi= (2.800+2. 200) x 15. 400 x 0. 100
v2= (6.200+15.200) x2x0.410x0. 100
v3=1.200x15. 400 x 0. 100

v4= (1.200+15.200) x2x0. 700 x 0. 100

S BRI ML (R=542) avsU—Hh)

al= (6.200+15.200) x2x0. 410
a2= (1.200+15. 200) x 2 x 0. 700

6. FatRET

1) XEB7Hh—
MRz 2442 ¢ 150
L=0.640x15

2) RAKRIKER
al= (0. 320+0. 420) x2x0.030x 16

[SD345%&t]

D29~D32 13,406 kg
D16~D25 15,104 kg
D13 920 kg

. 100
155
848
. 296

A&

|
_CA) N = =

XV = 1

17. 548
= 22. 960

2A 40.5



§ 3. BT (2XRMET) (ABL)

1. /KEBBOXSPER LIV ) — b (o ck=18N/mm?)
al=1.350x1.250-1.024 x 1. 061 (NBIEE) = 0.601 2
a2=1.350x 1. 250-1. 035 x 0. 478 (SMEIEFE) = 1.193 p?
V=1/2x (0. 60141.193) x 0. 900 = 0.8
2. JKEEBOXERIER L B4t (EPHHEEY)
al= 0. 601 (MEIERE : a>vU—Fk&Y) = 0.601 mp?
a2=1.193 GMAIERE - a2 U—R&Y) = 1.193
a3=1/2x (0. 315+40. 326) x 0. 900 (i ER) = 0.288 2
SA = 2.1
3. HElYA v Tarvs ) — 1+ (ock=24N/mm%)
al=1.088 x 2. 700 (REIERE) = 2.938 2
a2=1.066 x 2. 700 (SMEIEFE) = 2.878
V=1/2x (2.938+2.878) x 0. 900 = 26 ot
4. BRIDA B (KRErtEEY)
al=2.938 (MEIERE : a>vU—Fk&Y) = 2.938 p?
a2=2.878 GMAIERE - a2 U—R&Y) = 2.878 n?
a3=1/2x (1.088+1.066) x0.900 (i ER) = 0.969 2
SA = 6.8
5. B4 > 8%kR (SD345)
BB &L Y
D25 53 kg [SD345& 5]
D16 52 kg D16~D25 105 kg
D13 40 kg D13 40 kg

&t 145 ke



§ 4. RE&xT AEE

(1) BizT
B . FRETERERS
1) 7=TE: - BEE (H=230m)

FEE

14986 (H=9378~8221)

[+ ¥+ 4+ ++r+r+ 444 + 4

/ 12567 (H=9367~8219)

47 o (]

1200500 5001200

L

9367~8219
9378~8221

|
al= 14,986 x 1/2x (9. 378+8. 221) = 131.869 i
a2= 7.012x 1/2 x (8. 475+38. 493) = 59.490 it
a3=5.156 x 1/2 % (8. 221+8.197) = 42.326 i
ad= 12.567x 1/2x (9. 367+8. 219) = 110.502 i
ab= 3. 439 x 8. 464 = 29.108 i
a6= 2. 419 x 8. 219 = 19.882 i

SA = 393 #Hhm’



8509

(2) ZRT (ATEER)
1) 2+&
EmEX B X
4551 ‘ 4600 ‘ 4242 S_O_T

3 3§ U7
E %/ LY

12217 Q

13943

4=<HZ30m, T <40kN/m?

FEHE  t=1/2x (0.3004+0.807) = 0.554 m

BE  w=0.554x24.5 = 13.573  KN/m?

al=1/2x (7.999+7.803) x12.217 (A4 = 96.527 2

a2=1/2x (8.509+8.286) x 13.943 (444 = 117.086 2

V1= 1/2 x (96.527+117.086) x 0. 500 = 53.403 zopd
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2) ERIDA42YT

4 <H=30m, f>80kN/m’
FHE  t=1/2x (1.72045. 743) 3.732 m
WE  w=3.732x24.5 = 91.434 KN/n?
(MtBE
al=1/2x (6. 744+2.721) x4.827  (PAaI) = 22.844 2
a2=1/2x (6. 744+2.827) x4.700 (¥}l = 22.492 n?

V2=1/2 x (22. 844+22. 492) x 0. 550 = 12. 467 Zep’

) EBIOATNUTF

H<4m, T > 80kN/m?
FE  t=1/3x (5.36045. 786+5. 350)
BE  w=5.499x24.5

5.499 m
134,726 KN/m’

V3=1/2x0.500x0.513x1/3 x (3. 149+2. 721+3. 149) = 0.386 zep?

4 allv1T

4=<HZ30m, T>80kN/m?

FEHE  t=1/2x (3.388+4.821) = 4.105 m

BE  w=4.105x24.5 = 100.573 kN/n?

al=1/2x (4.8314+3.398) x3.582 (A4 = 14.738 1
a2=1/2x (4.8314+3.711) x2.800 (4@ = 11.959 2
V4= 1/2 x (14.738411.959) x 0. 900 = 12.014 oops

5 BBIVA TN TF

H<4m, T > 80kN/m?
FE  t=1/3x (4. 62344 895+4. 640)
BWE w=4.719%x24.5

4.719 m
115.616 KN/’

Vb= 1/2x0.500x 0. 663 x 1/3 x (3. 663+3. 398+3. 663) = 0.593 =zep?



6) XBEIEEH
A<H=Z30m, f<A0KN/m* (K EUHEAHER)

YV= 53.403 = 53 Zem?

H<4m, >80kN/m? (Z M)

YV= 0.38640.593 = 1 Zem’

4<H=Z30m, f>80kN/m> (Z M)

2V= 12.467+12.014 = 24 Zem?

§ 5. HEH#KI (A14ER)

(1) BKH (B400 x J£30)
L= 34.1 = 34.1 m

(2) Kik/4 T (VU ¢ 50)
L= 9.85 = 9.9 m



§ 6. RERERT
1. {RAEERERST +ERRT

(1) BT cEE (A1) ]l (TEIEIEER (Z0D4) )
=5 V1=  6.00 X 6.00 X 0.42 = 15.1 m3
(==} TR a5
sz V2= 6.00 X 6.00 X 0.42 x 1/2 = 7.6 m3
- ®gE 0. 42/0. 07=6. 00 - Z _ 22. 7 m3
(2) FEZEIE
& g (m) FEE (m) & (m2) e
A2{RIAZ HE 2R 6. 000 4.083 24.50
A2{EIREYT Y 3.000 3.000 4.50 |1/2@ERE
A1 {EIZHEER 6. 000 6. 000 36.00
& By <
TR E A1 {835 25 5 6. 000 5. 000 30. 00
A1 B B £ &R 5. 000 5.000 25.00  [W=(6.0+4.0)/2=5. Om
INEH 120. 00
AlfEI&Et 120. 00
(3) BAHET : RC-40, t=200
A= 120.00 = 120.0 m2
V= 120.00 x 0.200 = 24.0 m3




2. R$BT

(1) x4
B ik poll B = I ' P (e (o HE
v (m) = =
T H-350x350x12x19| ke | 6.5 | 135.0] 877.5] 4 | 3,510 ss400 [y-a#t 4t
S H-300x300x10x 15| ke | 6.5 | 93.0] 604.5 2 1.209| SS400 |y-3#f, H=#t
EHT |seHERE [-200x80x7.5x11| ke | 1.9 | 24.6| 46.7] o 420| ss400 |mEA#t
w45 |2 F 7+ [PL-12x168x310 | ke 29| 22 108| ssa00 |mEAm
SHAF TF [PL-12x145x268 | ke 3.7 16 50| ss400 |mEA#t
&t ke 5, 306
ke 400.0[ 18 | 7.200] 4mg
BT 1000 x 2000 x 208 |-
m2 18 36.0| fRAE
=i | #—rL—|ar-c-28 m| 12,0 L=6.0x2=12.0,m
M22 x 60 ke 0.525| 36 19| FloT [sA#M
BHRLE  [M22x75 ke 0.570| 16 of Fro1 |mAm
|5t 28
(2) B#RRERET
= 1k pll B = I ' P (e oY e
L2 (m) =i =
ke 289.0] 8 | 2312
L€ 22 %914 x 1829 -4t
m2 8 13.4
(3) #E#%xT
1) KiEY
#MEL. HERH100mOEFEEIEY TitL
V=" 1.11 X 7.516 X 0.30 X 2 = 5.0m3
0.91440.10%x2 1.829x4+40.10x2 =1 A
(2) EEEIE
A= 0.914 x 7.316 X 2 = 13.4 m2
1.829x4 A
(3) #BREL - R ARERE ML EAnKiE, B8RP K U HEDKRTEIXELR
V= 5.0 = 5.0 m3




3. MAHREERT

(1) BT
g W E A& (m2) EE (m) {A7E (m3) hE
15 (No. 8+10~No. 9) 7.93 10.00 79.3  |ttFREFE - No. 9
RS ER 6.83 22.00 150.3 [tk : No. 8
&t 229. 60

(2) X&¥xtm>5T

N= 4+

(3) EEEHEK
L= 85.0

4. NME@EELTT

(1) BT
Vi= 7.78
32.58
BT
V2= 312.60
 RIEBE
(il =)

(2) RELDS5T

N= 33 +

T
hiEE

19.517
13.180 +

216.9 x0.9=

95.7 x1.25= 119.6

19.571

195.2

+ 15

RiEFET (MELEHME 314.8

31

D BIRE 500 (BEERYIFLUE,

X

BIEITE®RAN (20 3) SR

1/2

= o6 &

®|IL, ¥ TILIEE)
= 85.0m
(B&PREF) = 151.8m3
(Bg{AER) =  533.5m3
= -314.8m3
2= 370.5 m3



